I am having trouble matching rates of employer-sponsored health insurance offers across MEPS rounds.  Looking at the 3/1, 4/2, and 5/3 rounds of the 2005 data set, I would like to examine the uninsured, working population to find the change over time of these three categories:

a) The percentage of employees who work at a firm that does not offer health insurance to anyone. (OFFER##X=2 & OFREMP##=2)

b) The percentage of employees who work at a firm that does offer health insurance to some of its employees, but does not offer it to them.  (OFFER##X=2 & OFREMP##=1)

c) The percentage of employees who were offered health insurance by their firm, but declined.  (OFFER##X=1 & OFREMP##=2)

I hope to restrict this population to full-time, non-seasonal, non-temporary employees aged 18-64 who work at least 25 hours a week and are not self-employed.
All of these variables are in the data set.  Unfortunately, when I set the appropriate filters and look at the crosstabs of OFFER x OFREMP, I find splits of the above three categories that vary too much in too short of a time period to be possible.

Any ideas about what I might be overlooking in my SPSS code would be extremely appreciated:
***********SPSS CODE***************.

**OPEN FILE.

GET

  FILE='E:\MEPS\Individual\2005\mepshh05.sav'.

DATASET NAME DataSet1 WINDOW=FRONT.

**USE MEPS WEIGHTS.

WEIGHT BY PERWT05F.

USE ALL.

**Recode OFFER42X, OFREMP42, OFFER53X, OFREMP53 variables--  when job and health insurance status stay the same and offer/ofremp is not valid, check if not ascertained and use previous round's findings.

**When current main job or health insurance holding change, or offer/ofremp is valid, use the current round's finding and ignore previous round.

***adding this recode should change the -9 NOT ASCERTAINED % in 4/2 and 5/3 to match the level in 3/1 for an OFFERX and OFREMP crosstab.

**This works for some of the filtering combinations, but not all.

IF (CHGJ3142=4 & OFFER42X=-9 & HELD31X = HELD42X) OFFER42Z=OFFER31X.

IF (CHGJ3142<>4 | OFFER42X<>-9 | HELD31X <> HELD42X) OFFER42Z=OFFER42X.

IF (CHGJ3142=4 & OFREMP42=-9 & HELD31X = HELD42X) OFREMP42Z=OFREMP31.

IF (CHGJ3142<>4 | OFREMP42<>-9 | HELD31X <> HELD42X) OFREMP42Z=OFREMP42.

IF (CHGJ4253=4 & OFFER53X=-9 & HELD42X = HELD53X) OFFER53Z=OFFER42Z.

IF (CHGJ4253<>4 | OFFER53X<>-9 | HELD42X <> HELD53X) OFFER53Z=OFFER53X.

IF (CHGJ4253=4 & OFREMP53=-9 & HELD42X = HELD53X) OFREMP53Z=OFREMP42.

IF (CHGJ4253<>4 | OFREMP53<>-9 | HELD42X <> HELD53X) OFREMP53Z = OFREMP53.

exe.

**********SPSS CODE STOPS HERE FOR EXPLANATION OF FILTER VARIABLES*********.
***Here are the logical restrictions I want to use, for all three rounds.
Restrict Age to 18-64

	(AGE31X>17) & (AGE31X<65)  

	(AGE42X>17) & (AGE42X<65)  

	(AGE53X>17) & (AGE53X<65)  


Must be employed
	(EMPST31=1) 

	(EMPST42=1) 

	(EMPST53=1) 


Must not be insured

	(HELD31X=2) 

	(HELD42X=2) 

	(HELD53X=2) 


Must not be a temporary job

	(TEMPJB31=2) 

	(TEMPJB42=2) 

	(TEMPJB53=2) 


Must not be a seasonal job
	(SSNLJB31=2) 

	(SSNLJB42=2) 

	(SSNLJB53=2) 


Must be more than 25 hours of work per week
	(HOUR31>=25)

	((HOUR42>=25) | ((HOUR42=-2) & (HOUR31>=25)))

	((HOUR53>=25) | ((HOUR53=-2) & (HOUR42>=25)) | ((HOUR53=-2) & (HOUR42=-2) & (HOUR31>=25)))


Note that -2 in HOUR42 and HOUR53 = “DETERMINED IN PREVIOUS ROUND”
Must not be self-employed

	(SELFCM31=2)

	((SELFCM42=2) | ((SELFCM42=-2) & (SELFCM31=2)))

	((SELFCM53=2) | ((SELFCM53=-2) & (SELFCM42=2)) | ((SELFCM53=-2) & (SELFCM42=-2) & (SELFCM31=2)))


Note that -2 in SELFCM42 and SELFCM53 = “DETERMINED IN PREVIOUS ROUND”
(For the 3/1 filter only) Person must be over 16 and employed in the current panel
(RNDFLG31>0)
Ideally, I would like to be able to view the actual percentages of OFFER##X x OFREMP## using all of these filters.
*****************SPSS CODE RETURNS HERE*********************.
**The filters for all three rounds, using all of the desired restrictions, should look like this.
COMPUTE filter1_$=(AGE31X>17) & (AGE31X<65) & 
(EMPST31=1) & (HELD31X=2) &
(TEMPJB31=2) & (SSNLJB31=2) & (RNDFLG31>0) & (HOUR31>=25) & (SELFCM31=2).

COMPUTE filter2_$=(AGE42X>17) & (AGE42X<65) & (EMPST42=1) & (HELD42X=2) &
(TEMPJB42=2) & (SSNLJB42=2) & ((HOUR42>=25) | ((HOUR42=-2) & (HOUR31>=25))) &
((SELFCM42=2) | ((SELFCM42=-2) & (SELFCM31=2))).
COMPUTE filter3_$=(AGE53X>17) & (AGE53X<65) & (EMPST53=1) & (HELD53X=2) &
(TEMPJB53=2) & (SSNLJB53=2) & ((HOUR53>=25) | ((HOUR53=-2) & (HOUR42>=25)) |
((HOUR53=-2) & (HOUR42=-2) & (HOUR31>=25)))  & ((SELFCM53=2) | ((SELFCM53=-2) &
(SELFCM42=2)) | ((SELFCM53=-2) & (SELFCM42=-2) & (SELFCM31=2))).
**Then the code to set each filter and run each crosstab should be.
****FILTER #1 AND CROSSTABS.

VARIABLE LABEL filter1_$ 'Limited Frame'.

VALUE LABELS filter1_$ 0 'Not Selected' 1 'Selected'.

FORMAT filter1_$ (f1.0).

FILTER BY filter1_$.

EXECUTE.

CROSSTABS

  /TABLES=OFFER31X BY OFREMP31

  /FORMAT=AVALUE TABLES

  /CELLS=COUNT TOTAL  

  /COUNT ROUND CELL.

exe.

****FILTER #2 AND CROSSTABS.

**Remember to use the recoded Z variable for 42 and 53, because this data wasn’t collected if health insurance held status and job were constant across rounds.

VARIABLE LABEL filter2_$ 'Limited Frame'.

VALUE LABELS filter2_$ 0 'Not Selected' 1 'Selected'.

FORMAT filter2_$ (f1.0).

FILTER BY filter2_$.

EXECUTE.

CROSSTABS

  /TABLES=OFFER42Z BY OFREMP42Z

  /FORMAT=AVALUE TABLES

  /CELLS=COUNT TOTAL  

  /COUNT ROUND CELL.

exe.

****FILTER #3 AND CROSSTABS.

**Remember to use the recoded Z variable for 42 and 53, because this data wasn’t collected if health insurance held status and job were constant across rounds.

VARIABLE LABEL filter3_$ 'Limited Frame'.

VALUE LABELS filter3_$ 0 'Not Selected' 1 'Selected'.

FORMAT filter3_$ (f1.0).

FILTER BY filter3_$.

EXECUTE.

CROSSTABS

  /TABLES=OFFER53Z BY OFREMP53Z

  /FORMAT=AVALUE TABLES

  /CELLS=COUNT TOTAL  

  /COUNT ROUND CELL.

exe.
***The resultant crosstabs, however, do not come close to matching.

***The percentage change in health insurance offer trends among those who are currently uninsured seem far too great to be possible within a single MEPS panel.

***Removing missing values from the percentage tabulations does not help.

MISSING VALUES OFFER31X(-1, -8, -9).

MISSING VALUES OFREMP31(-1, -8, -9).

MISSING VALUES OFFER42Z(-1, -8, -9).

MISSING VALUES OFREMP42Z(-1, -8, -9).

MISSING VALUES OFFER53Z(-1, -8, -9).

MISSING VALUES OFREMP53Z(-1, -8, -9).

***If I run the filter computation below (and re-run the filter/crosstab code above), I get numbers that seem to match appropriately.

COMPUTE filter1_$=(AGE31X>17) & (AGE31X<65) & (EMPST31=1) & (TEMPJB31=2) &
(RNDFLG31>0).

COMPUTE filter2_$=(AGE42X>17) & (AGE42X<65) & (EMPST42=1) & (TEMPJB42=2).

COMPUTE filter3_$= (AGE53X>17) & (AGE53X<65) & 
(EMPST53=1) & (TEMPJB53=2).

***My problems seem to occur when I add any of the HELD##X, SSNLJB##, HOUR##, and SELFCM## restrictions.

*** If I run a filter for age, empst=1, and held=2.

COMPUTE filter1_$=(AGE31X>17) & (AGE31X<65) & 
(EMPST31=1) & (HELD31X=2).

COMPUTE filter2_$=(AGE42X>17) & (AGE42X<65) & (EMPST42=1) & (HELD42X=2).

COMPUTE filter3_$=(AGE53X>17) & (AGE53X<65) & (EMPST53=1) & (HELD53X=2).

**and also throw out all of the missing values (code above), then re-run the crosstabs.

*************END SPSS CODE*****************

then I find the following percentage results:

Round 3/1

	 
	Some employees were offered
	No employees were offered

	Respondent was offered
	24.45709
	0

	Respondent was not offered
	24.33044
	51.19616


Round 4/2

	
	Some employees were offered
	No employees were offered

	Respondent was offered
	27.47311
	0

	Respondent was not offered
	21.9202
	50.51654


Round 5/3

	 
	Some employees were offered
	No employees were offered

	Respondent was offered
	18.13412
	0

	Respondent was not offered
	26.17709
	55.68879


These numbers seem like relatively large shifts in a short time period, but given all of the problems I’ve had with the appropriate restriction, I can’t trust them at all.
